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Geometry Mix.  (Solution)   
(Miscallaneous)   

1 A 9 A 17 D 25 D 33 D  

2 D 10 B 18 b 26 C 34 D  

3 C 11 D 19 C 27 C 35 c  

4 A 12 A 20 C 28 D    

5 c 13 B 21 b 29 D    

6 C 14 b 22 A 30 D    

7 B 15 A 23 A 31 B    

8 B 16 C 24 b 32 A    

1. (a) Let the smallest side of the plygon be a  
The largest side of the polygon =20a 
Since the polygon has 25 sides of the polygon are 
respectively  
a,a d,a 2d,...,a 23d,a 24d;d      being the common 

difference.  
a 24d 20a 19a 24d       

Sum of the lengths of the sides =2100 
a (a d) ... (a 24d) 2100

25a d(1 2 ...24) 2100

     

   
  

(2424 1
25a d 2100

2

25a 300d 2100

 
  

 

 

 

24d
25 300d 2100

19

600d
300d 2100

19

6d
3d 21 63d 19 21 d 19 / 3.

19

  

 

      

  

24 19
19a 8 19,a 8

3


      

Smallest side = 8 cm 

And the common difference =19/3 = 
1

6
3

 cm.  

2. (D)  

 

 
3. (C) 

 
4. (A)  

 
5.  (c) Interior and exterior angle are always supplementery 

i.e., interior angle + exterior angle =180  
Their ratio is given 2:1  

So that exterior angle of the polygon =180×1/3  
But  sumof the exterior angle ofa polygon is always 
360º 
Therefore the no. of sides =360º/6=6  

 

 
6. (C) 

 
7. (B)  
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8. (B)  

 
9. (A)  

 
10. (B)  

 
11. (D)  

 

 
12. (A)  

 
13. (B)  
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14. (b) Let there be n side polygon, eachside 2P/n  
A=n×area of triangle whose side is 2P/n and altitude ‘r’. 

1 p
A n 2 r

2 n

r A / P

   

 

 

 

15. (A)  

 
16. (C) 

 
17. (D)  

 
18.  

(b) Let n be number of sides of polygon.  
Sum of the interior angles of a polygon of n sides  
= (n-2)×    

5
n (n 2) n 12

6


          

19. (C)  

 
20.(C)  

 
21. (b) Area of the shaded region = Area of square of side 
6cm-4×a right angled sector 

23
36 4

4

 
      

36 9 9(4 )       sq. cm.  

22. (a) 2 2(r 1) r 22       

2 2(r 2r 1 r ) 22

2 r 22

22
(2r 1) 22

7

2r 1 7

2r 6 r 3cm.

     

    

  

  

   

  

23. (a) Volume of earth : volume of moon  

3
4 4 r3r : 64 :1
3 3 4

 
    

 
 

24. (b) As the sphere fits exactly inside the cube, the diameter of 
sphere wil be equal to the edge of cube.  
Let te edge of cube be x units.  
Radius of sphere =x/2  
Then volume of cube/volume of sphere  

3

3

x 6
6 :

4 x

3 2

   
 

  
 

 

25. (d) Let the radius of circle =r and side of square =x units  
Then,  

2

2

2 2

Area of circle r
1

area of square x

x r x r


 

     

  

Now,  
Circumference of circle /periemter of square  

2 r

24 r

: 2

 
 



 

  

26. (c) Length of wire  

= 4 Area of square 4 484 4 22 88 cm       

Let the radius of circle = r cm  
Clearly  
Circumference of circle =88 cm 2 r 88     

22
2 r 88

7
     

88 7
r 14cm

2 22


  


 

Area of circle = 2r   

222
14 14 616 cm

7
      

27. (c) When the rectangular sheet is rolled along its length, the 
length of the sheet forms the circumference of the base of 
cylidner and breadth of sheet forms the height of cylinder. 
Circumference =1006 

2 r 100     

22
2 r 100

7

700 175
r cm

44 11

   

  

 

So that volume of the cylinder = 2r h   

322 175 175 245000
44 35000 cm

7 11 11 7
        
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28. (d) If the radius of the hemisphere be r units, then hight of 
cylinder and cone =r units  

So that required ratio =  

2 3 2

3 3 3

1
r h :2 r : r h

3

1
r : 2 r : r

3

3 : 6 :1

   

   



  

29. (d) Let the radius of the base of cylinder be r units.  
Height =8 r units  

Its volume 2 3r 8r 8 r cu. units       

Radius of sphere = r/2 units  

Volume =

3 34 4 r
cu. units

3 2 6

  
  
 

  

So that Number of spherical balls 
3

3

8 r
6 48

r


  


  

30. (d) Short cut method :  

If height and radius both of a cylinder change be x%, then volume 

change by  

2 3

2

3x x
3x %

100 100

3 20 20 20 200
3 20 %

100 10000

 
  
 
 

   
    
 

  

31. (b) Effective increase 
50 50

50 50 5 % 125%
100

 
    
 

  

32. (a) required percentage increase  

8 8
8 8 % 16.64%

100

 
    
 

  

33. (d) Required percentage increase 

40 40
40 40 % 96%

100

 
    
 

  

34. 

 

 
35. 

 
 

 
 

 

 


